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SH: R D
HE: g

ool MARIHE A GEERED
SA - BB B () - MM - BES Ol &t o San HmEET
SEENEEEEE N EEEIEEEE:
SEH fIEH 1,500, 000& 1,500
OgM =& AB2AHg] 1,350, 000& 1,350
OAMIAEN HE L SAES 1,400,000 1,400
O=J1etBXH & XDAs SAES
1,000,000 1,000
OXZgAAZ3 ot3tdiol 29 10,000, 000& 10,000
03 QIAHMNHE2IHIEE 28,000 18,000 10,000
Ot XNREHY ZE AKX 23l
23,000,000& 23,000
OYF=HSLIZe2 ZSAF2AS 2|
5,000,000& 5,000
04 QIZFHALAIH B & 22,400 2,800 19,600
02016 JtSS2d =N 28,000,000& *70/100 19,600
OHM7e HALS0 otgf FEXEH 4IA2E 23
g 4,000, 000& *70/100 2,800
A 2 o"e sEHQ 2| 570,478 509,053 61,425
T o 2 570,478 509,053 61,425
201 et 87,512 91,662 A 4,150
01 AP 2teltl 84,570 88,720 A 4,150
O1.det=2H| 64,150
—OlAbZte| Yet+=ZH| 6,300,000& 6,300
-¢EE E AMOoIA ME 10,0003 *300F 23! 6,000
-YEM(4-52 &TX) HA
150,000& *15H 2,250
—EAZRA 22 MEH 11,600
dEE A 200,000& »43H 8,600
O E A 200,000& »15H 3,000
“AYSRFWAX 2 24,000
INR=Ig=s 3,000& *1302 128 4,680
SAZ2H 2,5003 +x58% 128 1,740
INRADN N 6,000& *80F 128 5,760
EEPNPNRSIFS] 5,000 x702 6 2,100
COAXIEA 6,000& x602 128 4,320
T 33EHA 7,5003 x602 x128 5,400
-HAERES ¢ 14,000
M X B2 S(Card Plate)
16,0002 *5000H 8,000
USRS =20 7,000& *5004 3,500
BRI ES 2018 AH0olA
5,000& 5004 2,500
O3.2d=¢ 12,860
—CIALRI RS A 70,0003 x4 123 3,360
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e
0
0

H: U Z2SHdLWHHHHL(SSE AL
|

S # ddzsdNE

SA - ZE-B(EN) - NRAY - B S il

Al 24,960

M HbZSdXNAZAEER 31,200 31,200

Otldl2sl MRESH XA

800,000 »34H = CH 27,200
< 5,440
Al 21,760
OAHHOIE & dls Xl 4,000
—uEsEHE 3,000,000& 3,000
< 600
Al 2,400
-ZFAHOHOH 1,000,000 1,000
< 200
Al 800

403 XIS E X201 & 148,800 148,800
< 29,760
Al 119,040

3obIZELNAEZEE 148,800 148,800
OPC/Z2IHIl 2 1,500, 000& *5H = CH 7,500
< 1,500
Al 6,000
og=sy 2 90,000 *7J4*290H = 4 18,270
= 3,654
Al 14,616
OYgerdsnl ¢ 24,075
—ussEd 200,000 41 x29H = O 23,200
< 4,640
Al 18,560
-ZrAHCH CH 35,000& *5J4 «501 = CH 875
= 175
Al 700
Oz F¢ 20,0003 * 1501 x29H = O 8,700
= 1,740
Al 6,960
OO0k & /I +¢ 30,0003 *10JH 344 = CH 10,200
= 2,040
Al 8,160
ot 2¢ 10,400
—ussEc 5,000 704 29 = CH 10,150
< 2,030
Al 8,120
—ZH AHCH CH 5,000 =100 *5J4 = CH 250
< 50
Al 200
ozl ¢ 10,0002 = 10J4 341 = CH 3,400
< 680
Al 2,720
O=s1 7¢ 5,000 *50J4 290 = 4 7,250
< 1,450
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ni;

HH: U ZSHALHATHHHNE(SSEMLOE/THHETH - 212k
el SEYs U oU2SAN
SA - ZE-B(EN) - NRAY - B S il
Al 5,800
OFUE &zT 2 20,0003 «100H 344 =Y 6,800
< 1,360
Al 5,440
o2x ¢ 30,0003 *30JH *50 = CH 4,500
< 900
Al 3,600
OMeraar ¢ 60,000 *20J0 x5 = OH 6,000
< 1,200
Al 4,800
OdEHE # 100, 000& *5J4 *5H = CH 2,500
< 500
Al 2,000
oolsgds ¢ 250,000 *1JH =104 = CH 2,500
< 500
Al 2,000
og=sz 2g 15,000 *3J4 29 = CH 1,305
= 261
Al 1,044
Ogaes #¢ 10,000 *10JH 290 = OH 2,900
< 580
Al 2,320
OuWsEEIEX 2 300,000& 1429 = 8,700
S 1,740
Al 6,960
O3=ZdlAF 7¢ 500,000 *1JH *2904 = CH 14,500
< 2,900
Al 11,600
Otldl 22l & & At 800
—nsEdd 500,000 »1JH CH CH 500
< 100
Al 400
-ZFAHCHCH 300,000 =14 CH CH 300
< 60
Al 240
O&obl=z &Sl 1,000,000 = 1JH CH CH 1,000
< 200
Al 800
OAMHIOIZEEHIME +& 7,500
—unsEH 500,000& = 10CH 5,000
< 1,000
Al 4,000
-ZFAHCH OH 2,500,000 = 1H CH CH 2,500
< 500
Al 2,000
Al B Sg(LuS3MY/LLE#H) 1,007,472
sg e 1,007,472
nEsd 1,007,472
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2AM: X
M XY
ol B2

CERE: (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
2N lE(4F) 1,000,000& «80H 80,000
-ANM2DEWNH (1= 0ldt)
250, 000& =400 100,000
~SAARAH N E 1,500,000& x6H 10 90,000
~MAAEHH A 250,000& »60H 15,000
O & EpI&u=s 203,500
-nZeld4s) s 19,000,000 » 1 19,000
-ha2sdlcl s 2,300,000& »20H 46,000
-deldFE A 1,300,000& 2% 10 26,000
-=e 2 B2 MBS 450, 0003 x250H 112,500
HESHAAL (MR HZ D) (IIEH/DIEL) 30,984,248 28,064,490 2,919,758
Olzd Y| (XXX ) 30,536,984 27,630, 186 2,906,798
AFolASAY| 7,034,978 6,487,748 547,230
101 2121 4| 891,551 646,953 244,598
01 2% 800,000 600, 000 200,000
ogoeg &< 800,000,000& 800,000
02 JIEtA 2 %= 91,551 46,953 44 598
OAZEE AN ('OHZ:8 - 2.2 ) 46,758
- = 59,684,300 x1& %x24/40 35,811
-AZ2t 2R g 12,5943 x1H «10A| 2tx 122 1,512
= 400,000 * 12 x 128 %24/40 2,880
-8 HZAH| 130,000 1 128 »3/5 936
-3 AtY|
2,984,210 *84%*86%*1/30%1/4 .8%77 Al 2t 1,153
-AEE J|&aE2g=2 38,828,000& x11.5% 4,466
Ot M (92 :HIA &) 24,793
- s 18,667,000 18,667
-AZ2t 2R 5 3,940 *1H *45A| 2tx12& 2,128
IESE(JIEHESE) 20,000& x1H x12& 240
=N 105,000 x 1H »12& 1,260
-CHorg sl 50,000& x1H «12& 600
-HHZAH| 130,000 x 19« 12& 1,560
-2 A H|
18,667 ,400& 1Y x84%*86%*9/360 338
OFJAZZE e == 20,000, 000& 20,000
303 A2 6,143,427 5,840,795 302,632
02 A= 6,143,427 5,840,795 302,632
Odau2 6,143,426,930& 6,143,427
2tE oA 2AH| 21,666,559 19,512,809 2,153,750
304 HA=282=H=2S 21,666,559 19,512,809 2,153,750
01 =R =2 18,339,683 16,327,555 2,012,128




2AM: XS
Mz HMSAHH (XXISHAED)(IIEHIIE
SRl ol 2P| (XX H ) (&2 &)
CEHH B (BH) - MBEAY - B2 ﬁlf& HDS2
Od28g=a S 104,936,702,000& *17 . 4769% 18,339,683
=201A02A8E2 ,326,876 3,185,254 141,622
ORpALBHEL LS
102,878,424 ,000& *3.035% , 122,361
OIAEE 22 3,122,361,000& *6.55% 204,515
29| ,835,447 1,629,629 205,818
101 e1214| ,835,447 1,629,629 205,818
03 2IHALZZHE = ,835,447 1,629,629 205,818
ORINHAA gz 300,000,000 300,000
ORI Boieid 23
8,878,751,000& *4 .5% 399,544
ORISR D82 2L
8,878,751,000& *1.5% 133,182
ORIHNAE MY 223
8,878,751,000& *2.0% 177,576
ORIIH kA fAX ZHI 1,000,000& *3H 3,000
ORIHAN 2RAVLHL LD
8,878,751,000& *3.035% 269,471
OLQ&EINLYLE 22
269,471,000& *6.55% 17,651
ORIIH*A Or=3 ZHl 50,000&*186H x13] 9,300
OR% 2N 22X AKX A3
60,000& *30YH x3 23| 10,800
ORIIHAR HEENT SRS MAX A%
1,000,000& «7H 7,000
ORIIHSZ '22 X9 ' A}
20,000 »186H 3,720
ORIJHAA HFsEE= 268,800
N EH 1,300,000& «186H 241,800
-2I1H A SgALEA 300,000& »90H 27,000
OJIEZEXNZA B 75 23,064
-3 892,550 x1H x12& 10,711
-& 032 892,550& *x1& *400% 3,571
-HEFIHH| 892,550& *x 1 *120% 1,072
-HHZAH| 130,000& x1H »12& 1,560
-2 I 2 30,000& x1H x12& 360
s 40,000& 1 x 128 480
=4 41,0403 x1H *52F 2,135
- X< 53,200& 1 %17 905
8324 892,550 x 1 x20%*23] 358
—nEEXd 70,000& x1H x12& 840
-M ey 892,550 *1H x10%* 12& 1,072
OFAMZZIQE (B4 23,296
ePAR=E=] 902,550& x 1H x12& 10,831
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EAREPAPNE= RS0
A HHE2H A (KX D) (IIEHIIE)
£rol: plef2 ol (XX A )
S BB (BA) - MRAY - BYS il
G 902,550& » 1 «400% 3,611
-EE SOt 902,550 *1H «120% 1,084
- MG A 130,000 x1& «12& 1,560
2503 40,0003 x1H 12 480
-EE 20,0003 x1H «128 240
-F5d 41,5003 » 1 »52%= 2,158
-Gt 54,0723 x1H 162 866
-d32+g 902,550& * 12 x30%+*22] 542
-nsSE X 70,0003 x1H 12 840
-HE e 902,550 x1H 10%+ 12 1,084
OFMEXN(FUHAY FHA )= 189,043
-Jl23 932,550 x7H «12& 78,335
&= 932,550 *7H «400% 26,112
-HE S 932,550 x7H «120% 7,834
-tEE 60,0003 x7H 12 5,040
-Axt=g 55,2483 +x7H 182 6,962
-F5d 42,8803 »7H »52%= 15,609
-HHZ A 130,000& »7H «12& 10,920
= = 40,0003 x7H «12& 3,360
-d32+g 932,550& *7H «40%*23] 5,223
-flds FYGEH s5) 80,000& 7 *23] 1,120
-Ad=g 50,0003 x7H » 128 4,200
-NHSHIEEE 463,990& » 1 x43 1,856
- ESE2 x| 70,0003 x7H 12 5,880
-Ag+g 40,0003 x7H 128 3,360
-XelAb=E& 50,0003 x1H 12 600
Ot 2 R4 7,615 7 *150%+5A1 2t 123 4,798
M= el 932,550 x7& x10%x 122 7,834
|2 (X8 E D) 447,264
FAN2SH 165,574
201 Let24E] 165,574
TEEET] 152,134
ORMEY dit=EH| 5,380,000& 5,380
OgHaA2d Let=EH| 500,000& =122 6,000
OFMEYE SEH 2,520,000& 2,520
Og Al 126,650
-2 A 50,0002 «6H «1182 35,400
-=Z 50,0003 x6H «3652 91,250
OgZE d&d 224 =8
50,0003 *25H 4 «23| 10,000
O= A Xt 132,000 = 1CH=12& 1,584
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R PPN = RSy
A HHE2H A (KX D) (IIEHIIE)
|

EH9: JI2ZH (X EF D) (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 3524l 13,440 13,440 0
OE+g d3te2 60,000 x20 =122 1,440
O328 sUE MEE 200,000& x50 =12 12,000
HARF=XOHI 104,340 88,800 15,540
202 (4] 104,340 88,800 15,540
01 2L Y] 104,340 88,800 15,540
OFQIPF=AAY 20,000& *37H 11 x12& 97,680
O&=WE 22X ol
20,0003 *37H x3 3 6,660
AR =&H| 177,350 182,030 A4 ,680
203 &R =&H| 177,350 182,030 N4 ,680
01 J|2A2HLR=AH| 138,600 138,600 0
OA & 79,200,000 79,200
OF A& 56,100,000& 56,100
OXX S =& 3,300,000 3,300
02 BRI ERFX 34,190
OFHRAINMAL2=XH| (2 :623H) 34,190
-1~1004 80,000& x100H 8,000
-101~300& 60,000& x200H 12,000
-301~600 45,000& *300H 13,500
-601~623H 30,0003 x23H 690
NSIER 4,560
2FN2gd U (H:36Y) 4,560
-2 350,000& x12& 4,200
-1 5,0003 x6H x12& 360




